Name: Date:

Directions: Read and understand each word problem in Column A. Match Column A with the

correct answer in Column B.

COLUMN A

1. The Science Organization has a total
of eight scientists and four secretaries.
The managers hired five more scientists
and two more secretaries. How many

scientists are there now?

2. | created six bookmarks for my art
shop. My mom asked me to create two
more bookmarks. | decided then that |
should create one more bookmark. How
many bookmarks do | have now?

3. The clown at our party created eleven
animal balloons. The other kids excitedly
requested for four more animal balloons. | @
How many animal balloons are there
now?

4. Ten little school kids waited for their
parents to arrive. After five minutes,
eight more students arrived and waited.
How many students are waiting now?

5. The three dogs at the park were
happily playing. After a few hours, five
more dogs arrived and played with them.
How many dogs are in the park now?
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COLUMN B



